if ( !male) return 0;
while ((*family).males[i]) {
if ( ( *family} .males [i] ==male} return 1;

i++;

}
return 0;
}
int existFemale(Family *family,Female *female) { int i; 

  i=0;
if ( ! female } return 0 ; 

while ((*family).females[i]). {
if ( (*family} . females [i] ==female) return 1;
i+ + ; 

} return 0;

}

int existMarriage(Family *family,Marriage *marriage) { 

 int i; 

i=0;
if ( !marriaqe) return 0; 

while ( ( *family} .marriages[i] ) {
if ((*family).marriages[i]==marriage} return 1;

i++;

}
return 0;
}
int existMarriagePair(Family *family,Female *female,Male *male) { int i; 

  i=0;
if ((!male) |  (!female)) return 0; while ((*family).marriages[i]} {
if (((*family),marriages[i]->female==female) ||
((*family) .marriages[i] ->male==male)) return 1;
i++; 

} 

return 0;
}
int hasWife(Family *family,Male *male) { int i; 

  i=0; 

  while ((*family}.marriages[i]) {
if ( (*family) .marriages[i] ->male==male) return 1;

 i++; 

}
return 0; }
int hasHusband(Family *family,Female *female) { int i; 

  i=0; 

  while ( (*family) .marriages[i] ) {
if ( (*family) .marriages[i] ->female==female) return 1;

 i++; 

}
return 0; 

}
int existSon(Family *family,Male *son) { 

int i; 

i=0;
if (!son} return 0; 

while ((*family).fathersons[i]) {
if ((*family).fathersons[i]->son==son) return 1;
i++;
